RlIRNG

HATPANE=S

1. B —% (5F0 7 5 T5H) — =3
(BH7 )
%= " & X%
g E KA X 7R ) 6 454 47 B Y A Fﬂ%ﬁﬁﬁrﬁgﬁl*ﬁ%
T2 XAk ek 2 B & L C, RFE 0 B oOIREINM R oG B | (1) SIS Eh g S 0 i3 2 A% MEO H IR a4
5 LI B VREEN B Al Te L 722N O MU 247 O Y | A BN
ITBIBERE 2 T 5 HUBIR Eh ik TR Bh K ONEE R | (AR IGBI AR O W TR #S OB I E R D)
DO—EH &I 5 i Bh R IR ENRE D 100%
e - N (2;%&?%@31%%%%@@%(%‘»a"%%@kﬁﬁ%@%#%)m
TRIE X AT B 1 2 A S ST T ST B DFHE
T i Eh kB & P 24, 203, 000 23, 103, 000 IR (1) OB 25% % H25 R9
7272 L5077 FIZs 7= 22 5515007 1 QR EVE #iBh 4
AATEAENR 1005 ARG TH B35 1., TR EMBhE DR
FHEDB0% (2 FH 29~ 5 %8)
&t 24, 203, 000 23, 103, 000




